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1. oo fraaRe for wpiR T finn 1x8=8

Answer the following as directed :

(@) TP NI ~ARSERRE T @
U TEIPEES Bl eSS IRI AR

(i) P 2za 5= (i) [
(4T O o )

The main problems faced by the
Business Managers can be divided into
two parts (i) decision making and
(1) -

( Fill in the blank )

==



(2)

(b) IR WTTF FTEL] g {3 #=ICH

sfisEe SeaTeR gwwa g
( wm & S5 B )

Making successful business forecast is
the responsibility of a managerial
economist.

( State True or False )

(c) TIOR 7R’ TR Feq «Bl IS |

(w7 & w9z o )

‘The price of the commodity’ is a factor of
demand function.

( State True or False)

(d) 3 oz uF fF Reg 7o =, o f&fe T

RIEGIE
@) TR T
(@) ATIF
(iti) T
(iv) G°F3 @bI8 =
(um Taach M Tfepea )

(e}

(3)

If tea and coffee are substitute goods,
then the-cross-price elasticity of demand
will be

(i) equal to zero
(i) negative
(i)} positive

(iv) None of the above

( Choose the correct answer )

I FTICENEF GCF AP SRES (@A 93
BRI W Mo Qo= [ WEF GI4 T
I @ 27 |

(= 3R T T )

Other things remaining the same, the
supply of a commodity __ with a rise
in its price and _____ with a fall in its
price.

( Fill in the blanks )

TR T FCe! T |

Define production function.



(4) (5 )

lg) +f affenss Iw9e, SRR ofts (b) IR A HeTEOR @S HOR (AR
@R AR RE w7 R T’ & I@ ©es SIfRGT 59T

T TR WE oo 7 = Four factors affecting price elasticity of

('ﬂ%ﬁi"ﬁ‘TW) demand
(o). TR Afew w1

In a perfectly competitive market, equili- .
Increasing returns to scale

brium production and are
determined where marginal cost curve (d) IET AW B wrepdl fiwwfie
cuts marginal revenue curve from below. Internal economies of a business firm

(Fill in the blank )
’ 3. (@ Ife SRS gom e ARoEET SR
i wiigs R sicama 341 1 8+6=14

(h) ST ¥ SRES @< Tesine aifedice sdw .
Discuss the role and responsibilities of a

oS W29 FCI | ; . :
_ business manager in business
(w7 & =g for ) €conormics.
{\ firm .n.1al«.:es maximum profit when it is 5441 / Or
in equilibrium.
( State True or False ) (b) S $FR Rem FpipRE Rea s
alll 14
Discuss the various problems of an
2. we frfdee es[@e sie foran - 4x4=16 economy.
Write on the following in brief : »
4.,
(@) T SR oo (a) SRR 7 fefegomen www fa 1 sRwE W

RfSarrrem avw Rew s 3911 4+10=14

Define price elasticity of demand.
Discuss the importance of price
elasticity of demand.

Four characteristics of business
economics
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b}

6. (a)

e smmae
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&%/ Or
MR ST @ RTRER gy
w1 @ RSmeme Ry gy
TR R WA 401 | 6+8=14

Explain the importance of elasticity of
supply in business economics. Discusg
the factors determining elasticity of

supply.

VA T WA WV @R
ffem tPepmz g w0 2+12=14
What is an iso-product curve? Explain

the different properties of iso-product
curves.

%91 / Or
PP AR w7 | R anst o @
-SSR TS Ry e w79 AR,
SR 37 | 4+10=14
Define expansion path. Discuss how it

can be d?rived with the help.of budget
line and 1so-product cyrve;

1. & fRRe fokt sl Tee

(7

w1/ Or

(b) < dfSierEs @R EFEPHE T=m T
9 AfeairerEe I@Re TdeEe B 99w
LT (AR FOIRT TR GEe R
A7

Explain the characteristics of a perfectly
competitive market. Why does a firm
under perfect competition make only
normal profit in the long run?

( Old Course )
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Answer the following as directed :

(a) I FEGY FFA RN AT “AfIvEm

SR we wfgs egw @ |
(©% & wrom oy )

Making successful business forecast is
one of the responsibilities of a
managerial economist.

( State True or False )

10+4=14

1x8=8



(8)

() A F=m g ofend R 1B goRe

(c)

(d)

(e)

f&®a )
(wm @ w5 forar )
Price mechanism is based on two strong

opposite forces.

( State True or False )

ST o fefewee ayem $fe SeeE /
T

(o7 Teach 9t Sfereq )

A perfectly elastic demand curve is
parallel / perpendicular to the base.

( Choose the correct answer )

v fede-Rfowrme Ry w9 cvas 2w
=/ (i) Afeew 7@ WE ) )

(0 &% sEaF )

Cross-elasticity of demand is applicable
in case of two categories of goods
(i) substitute goods and (i) >

( Fill in the blank )

9% TR A WA I -4few 2 / %
zfaze wrea feafie Soqrsi 33 |

( om Taxh A Tferea )

Internal economies ‘are enjoyed by a
business firm. due to a decrease [/
increase in its scale of operation.

( Choose the correct answer )

i

(g)

L)

2. oo e oY e

9 )

-Beer. (391 (Ffeme BT Fre TrmAE @
Torg 2’3 TR |

(= @ = fay )

An_ iso-product curve can never be
horizontal or vertical to the base.

( State True or False )

GITHB TGS TeoFal 2ifodm R s 9

How many firms are there in a monopoly
market?

@RS RS AfSrrez et iy 3 W
29 IR ?

Under which market form, a firm is a
price taker?

Answer the following questions in brief :

(@)

(b)

wAifE g3mg w01 oM SoEw w9

Mention four problems of an economy.

R @1 7R s v Ry e 24 |
Discuss any four types of demand.

4x4=16



(10 )

(11
() T SREIA wge: oiREl ¥4 Racy By i / O
I
Mention at least four elements of (b) vifEiR Rfowree e 6 g2 vifeng @
demand forecasting. fefowiers 2feme rafesges Ry smcem-n w41 |
3+11=14
(d) W-Teowa (@R IR AR TrE ) Leticity of
: _— What do you mean by elasticity o
Mention  four  characteristics of : :
iso-product curve. demand? Explain different me?hf)ds of
measurement of price elasticity of
demand.
3. (a) AR NS 9373 <o awr g
TG e wEen 919 | 7+7=14 4
Discuss the role and responsibilities of a s T IS
manager in business economics. 5. (a) A S fafecor fo
SCHATo=T 4T | 14
_A/ Or '
(b) afefere weffeg Nﬁ?”“{i T 4 | AARTE D?scuss the law of -vanablé proportions
RN Tt 21 RfSd PR REgy SemT with the help of suitable diagram.
I 7+7=14 S
r
Mention the characteristics of business
€economics. Discuss the different ! (b) EEARITIE| %QW ﬁw T Qﬁw Tﬁrcar ﬁ
problems of business economics: w7 & R T w R wF SR
: ASRIES =7, S F47 | 6+8=14
4. (a) v @ Ffdwmen T R 2 W RivwsreR

fre Sorafien RIGSIETsT ¥4 1 4+10=14 | What do you mean by economies and

diseconomies of large-scale production?
What is price ‘elasticity of demand?

Discuss the different factors influencing
Explain the practical utility of price ‘ economies and diseconomies of large-
elasticity.

‘ scale production.



(12 )

6. (a) olc{ gjﬁ;’“‘r’f\s‘@iﬁ@ IHRE Zm TrEY 90
oqf sferriieEe Jwwe R TS
Bl 8+6=14

State the features of a perfectly
competitive  market. Explain the
conditions of short-run equilibrium of a
firm under perfect competition.

w49 / Or

(b) <FTBH ITRS G IR Bowes ST T
foree 3 2 @2 MR e & & Sommee g
= 03 weEm 3 5+9=14

How does a businessman fix" his
equilibrium price in monopoly market?
Discuss the factors influeneing the
fixation of this price.
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